Efficiency vs dr

efficiency vs AR
o o o o
O b 2N 2L w 2 s °
Eml\)mwmbmm

I _I__III..E_‘
m D

ase

-| —e— DQM_mKFit_TT_retrainOldFiles125

—— D M_mkEi%_TT retrainNewFiles125
“mkFi

Ratio
P
al

—i— D _TT_retrainNewFiles125AndSQCD

~THTTT] LT 31T 9,149 | e vy
LT
10™

1
TP min AR

ey

[ Efficiency vs dr (track,jet) |
§0.05
n0.045
=
o
<]0.04
9.035
>
20.03
Q
:-'=0.025
3]
0.02
0.015
0.0
0.005

Ratio
=

1073 1072 107t
AR(TP, jet)

-+ ]

Ratio
-
»O

o
©
O[T T

bk T
2 50 60 70 80 90 100



	Contents
	Page 1


